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Primary Division: Problems Ili

To encourage Lazy Leonard to work at a job for 36 days, it was decided that he would be |
£4 per day for each day he worked, but he would forfeit £5 for every day he idled. Atthe €
of the 36 days his pay was £0.

How many days did he work and how many days did he idle?

Andrew has forgotten the code to allow him to unlock his bicycle.
He knows:
* itis a 3-digit number;
 the sum of the digits is 13;
« the outer digits are even,;
» subject to these conditions, the product of the digits is as large as possible.

What is the code? Explain clearly.

A cube can be opened out into a net made up of six squares. But which nets below made
squares fold up into a cube? For those that do not, use the spots to explain why not. For t
do, with the given spots, which form a standard dice? Explain.

END OF PROBLEM SET llI



